Problem B-2-14
Find the inverse Laplace transforms of the following functions:

6s + 3
(a) F(s) = Ssz
_ 55+ 2
(b) FZ(S) - (S+ 1)(5 + 2)2

Problem B-2-17
Obtain the inverse Laplace transform of

5

F(s)=s2+2s+10
Problem B-2-22
Find the solution x(f) of the differential equation
¥+ 4x =0, x{(0) = 5, x(0)=0
Problem B-2-23
Obtain the solution x(¢) of the differential equation
¥+ wix =1, x(0) = 0, x0)=0
Problem B-2-24
Determine the solution x(?) of the differential equation
2X+2x+x=1, x(0) =0, x(0) =2

Problem B-2-25
Obtain the solution x(7) of the differential equation
X+ x =sin3t, x(0) =0, *(0) =20




